

MULTIPLY EACH POLYNOMIAL.

- $(x+5)(x+4) = x^2 + 9x + 20$
- $(x-7)(x-4) = x^2 - 11x + 28$
- $(x-4)(x+6) = x^2 + 2x - 24$
- $(x+9)(x-8) = x^2 + x - 72$
- $(x-12)(x+2) = x^2 - 10x - 24$
- $(x+15)(x-6) = x^2 + 9x - 90$
- $(x+7)(x+4) = x^2 + 11x + 28$
- $(x+8)(x+9) = x^2 + 17x + 72$
- $(x-5)(x+7) = x^2 + 2x - 35$
- $(x+5)(x-4) = x^2 + x - 20$
- $(x-5)(x+2) = x^2 - 3x - 10$
- $(x-3)^2 = x^2 - 6x + 9$
- $(x+4)^2 = x^2 + 20x + 16$
- $(x-11)^2 = x^2 - 22x + 121$
- $(3x+20)^2 = 9x^2 + 120x + 400$
- $(2x-15)^2 = 4x^2 - 60x + 225$
- $(x-15)(x+15) = x^2 - 225$
- $(x+8)(x-8) = x^2 - 64$
- $(x-7)(x+7) = x^2 - 49$
- $(x+5)(x-5) = x^2 - 25$

FACTOR EACH POLYNOMIAL COMPLETELY.

- $x^2 + 5x + 6 = (x+2)(x+3)$
- $x^2 + 12x + 35 = (x+5)(x+7)$
- $x^2 - 8x + 15 = (x-3)(x-5)$
- $x^2 + 13x + 42 = (x+6)(x+7)$
- $x^2 - 16x + 55 = (x-5)(x-11)$
- $x^2 + 5x - 24 = (x-3)(x+8)$
- $x^2 - 7x - 30 = (x+2)(x-10)$
- $x^2 - 9x^2 + 20 = (x+2)(x-2)(x^2 - 5)$
- $x^2 - 22x + 105 = (x-15)(x-7)$
- $x^2 + 12x + 36 = (x+6)^2$
- $x^2 - 24x + 144 = (x-12)^2$
- $x^2 + 16x - 36 = (x+2)(x-6)$
- $x^2 - 6x - 16 = (x+2)(x-8)$
- $4x^2 + 20x + 25 = (2x+5)^2$
- $25x^2 - 30x + 9 = (5x-3)^2$
- $x^2 - 16 = (x+4)(x-4)$
- $x^2 - 64 = (x+8)(x-8)$
- $x^2 - 81 = (x+9)(x-9)$
- $9x^2 - 169 = (3x+13)(3x-13)$
- $49x^2 - 16y^2 = (7x+4y)(7x-4y)$

MULTIPLY EACH POLYNOMIAL.

- $3x(12x+5) = 36x^2 + 15x$
- $2x(x-14) = 2x^2 - 28x$
- $5x(x^2+5x+6) = 5x^3 + 25x^2 + 30x$
- $(3x+1)(x-8) = 3x^2 - 23x - 8$
- $(4x-1)(2x+2) = 8x^2 + 6x - 2$
- $(3x+5)(x-6) = 3x^2 - 13x - 30$
- $(x+7)(2x+3) = 2x^2 + 17x + 21$
- $(x-8)(4x+3) = 4x^2 - 29x - 24$
- $(2x-5)(2x+7) = 4x^2 + 4x - 35$
- $(3x+2)(5x-4) = 15x^2 - 2x - 8$
- $(6x-1)(9x+2) = 54x^2 + 3x - 2$
- $(2x-3)^2 = 4x^2 - 12x + 9$
- $(4x+1)^2 = 16x^2 + 8x + 1$
- $(3x-1)^2 = 9x^2 - 6x + 1$
- $(3x+7)^2 = 9x^2 + 42x + 49$
- $(5x-9)^2 = 25x^2 - 90x + 81$
- $(3x-5)(3x+5) = 9x^2 - 25$
- $(5x-8)(5x+8) = 25x^2 - 64$
- $(3x-7)(3x+7) = 9x^2 - 49$
- $(4x+5)(3x-8) = 12x^2 - 17x - 40$

Expand and simplify.

- $2(x+3)(3x-7) = 6x^2 + 4x - 42$
- $3(4x-1)^2 - 8(x^2-2) = 40x^2 - 24x + 17$

Fully factor:

- $x^2 - 625 = (x+25)(x-25)$
- $2x^3 - 20x^2 + 32x = 2x(x-2)(x-8)$

FACTOR EACH POLYNOMIAL COMPLETELY.

- $2x^2 - 5x - 3 = (2x+1)(x-3)$
- $2x^2 + 3x - 35 = (x+5)(2x-7)$
- $8x^2 - 40x + 50 = 2(2x-5)^2$
- $4x^2 + 4x + 1 = (2x+1)^2$
- $6x^2 + 17x + 12 = (3x+4)(2x+3)$
- $9x^2 - 12x + 4 = (3x-2)^2$
- $2x^2 - 12x + 18 = 2(x-3)^2$
- $3x^2 - 24x + 45 = 3(x-3)(x-5)$
- $15x^2 - 28x + 5 = (3x-5)(5x-1)$
- $3x^2 + 5x - 2 = (3x-1)(x+2)$
- $5x^2 - 20x + 15 = 5(x-1)(x-3)$
- $2x^2 + 7x + 3 = (2x+1)(x+3)$
- $4x^2 - 21x + 5 = (4x-1)(x+5)$
- $4 - 12x + 9x^2 = (2x-2)^2$
- $20 + 7x - 6x^2 = -(3x+4)(2x-1)$
- $64x^2 - 16 = 16(2x+1)(2x-1)$
- $x^4 + 4x^3 + 4 = (x^2+2)^2$
- $3x^3 + 9x^2 - 12 = 3(x+1)(x-1)(x^2+4)$
- $2x^2 + 9x^2 - 18 = (2x^2-2)(x^2+6)$
- $8x^3 - 26xy + 21y^2 = (2x-3y)(4x+7y)$